

This set of rates includes a Multiproduct Discount of 2%

Medical Rate Summary Exclusively for Menominee County ISD (Part of APA - Upper Peninsula) Rates Effective 01/01/2024 through 12/31/2024

	Medical Plan	IN Deductible	IN OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family	_
1	Essentials by MESSA	\$375/\$750	\$25/\$50	\$50/\$200	20%	EbM	\$565.06	\$1,271.39	\$1,582.17	EA
2	MESSA Balance+	\$1600/\$3200	\$25/\$50	\$50/\$200	20%	Balance+Rx	\$632.38	\$1,422.85	\$1,770.66	EC
		•		.				• • • • • • • • •	.	1
3	ABC Plan 3	\$3500/\$7000	\$0/\$0	\$0/\$0	20%	ABC Rx	\$593.69	\$1,335.81	\$1,662.33	1
4	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	20%	3Tier Mail	\$601.26	\$1,352.85	\$1,683.55	CI
5	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	20%	3Tier	\$608.46	\$1,369.03	\$1,703.69	DO
6	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	10%	3Tier Mail	\$613.91	\$1,381.28	\$1,718.93	CE
7	ABC Plan 3	\$3500/\$7000	\$0/\$0	\$0/\$0	10%	ABC Rx	\$619.70	\$1,394.32	\$1,735.16	7T
8	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	10%	3Tier	\$621.25	\$1,397.82	\$1,739.52	DK
9	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	20%	ABC Rx	\$636.85	\$1,432.90	\$1,783.17	9L
10	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	3Tier Mail	\$637.23	\$1,433.76	\$1,784.24	BW
11	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	3Tier	\$644.86	\$1,450.93	\$1,805.61	DC
12	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	10%	ABC Rx	\$650.25	\$1,463.06	\$1,820.69	9K
13	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	3Tier Mail	\$654.19	\$1,471.91	\$1,831.71	BS
14	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	0%	3Tier Mail	\$657.36	\$1,479.05	\$1,840.60	СА
15	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	3Tier	\$662.01	\$1,489.50	\$1,853.61	CY
16	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	0%	3Tier	\$665.23	\$1,496.77	\$1,862.65	DG
17	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	ABC Mail	\$665.93	\$1,498.35	\$1,864.61	AO
18	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	ABC Rx	\$674.79	\$1,518.27	\$1,889.41	9D
19	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	ABC Mail	\$683.65	\$1,538.22	\$1,914.23	АК
20	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	ABC Rx	\$692.64	\$1,558.43	\$1,939.38	9C
21	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	0%	ABC Rx	\$696.27	\$1,566.61	\$1,949.56	7R
22	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	3Tier Mail	\$703.16	\$1,582.11	\$1,968.86	во
23	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	3Tier	\$711.58	\$1,601.06	\$1,992.43	cυ
24	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	ABC Mail	\$734.84	\$1,653.39	\$2,057.55	AG
25	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	ABC Rx	\$743.98	\$1,673.96	\$2,083.15	7P
26	Choices	\$3000/\$6000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$658.24	\$1,481.04	\$1,843.07	8V
27	Choices	\$3000/\$6000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$670.02	\$1,507.55	\$1,876.07	80
28	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	3Tier Mail	\$670.47	\$1,508.57	\$1,877.33	ВА
29	Choices	\$2000/\$4000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$680.12	\$1,530.29	\$1,904.36	8R
30	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	3Tier	\$683.49	\$1,537.84	\$1,913.76	вм
31	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	3Tier Mail	\$689.82	\$1,552.10	\$1,931.50	AY
32	Choices	\$2000/\$4000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$696.12	\$1,566.27	\$1,949.13	8Q
33	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	3Tier	\$702.85	\$1,581.40	\$1,967.96	вк
34	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	SRX Mail	\$705.73	\$1,587.89	\$1,976.05	AC
35	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	3Tier Mail	\$707.50	\$1,591.88	\$1,981.00	AU
36	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$716.31	\$1,611.70	\$2,005.67	8N
37	Choices	\$3000/\$6000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$718.00	\$1,615.49	\$2,010.39	
38	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	3Tier	\$720.52	\$1,621.17	\$2,017.46	1
39	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	SRX Mail	\$725.08	\$1,631.43	\$2,030.22	1
-	L									



This set of rates includes a Multiproduct Discount of 2%

Medical Rate Summary Exclusively for Menominee County ISD (Part of APA - Upper Peninsula) Rates Effective 01/01/2024 through 12/31/2024

	Medical Plan	IN Deductible	IN OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family	-
40	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	3Tier Mail	\$731.91	\$1,646.80	\$2,049.36	AS
41	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$735.67	\$1,655.26	\$2,059.88	8M
42	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	SRX Mail	\$742.76	\$1,671.21	\$2,079.72	9W
43	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	3Tier	\$744.93	\$1,676.10	\$2,085.81	BE
44	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	3Tier Mail	\$747.91	\$1,682.79	\$2,094.13	AW
45	Choices	\$2000/\$4000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$748.30	\$1,683.68	\$2,095.24	8D
46	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$753.35	\$1,695.04	\$2,109.38	8J
47	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	3Tier	\$760.93	\$1,712.08	\$2,130.59	ві
48	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	SRX Mail	\$767.17	\$1,726.13	\$2,148.08	90
49	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$777.76	\$1,749.96	\$2,177.73	81
50	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	SRX Mail	\$783.17	\$1,762.11	\$2,192.85	9Y
51	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$793.76	\$1,785.95	\$2,222.51	8C
52	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	3Tier Mail	\$795.89	\$1,790.74	\$2,228.48	AQ
53	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	3Tier	\$808.91	\$1,820.03	\$2,264.94	вс
54	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	SRX Mail	\$831.16	\$1,870.10	\$2,327.23	95
55	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$841.74	\$1,893.90	\$2,356.86	7F
56	Choices	\$500/\$1000	\$10/\$10	\$25/\$50	0%	Saver Rx	\$856.88	\$1,927.97	\$2,399.26	7D
57	Choices	\$500/\$1000	\$5/\$5	\$10/\$25	0%	Saver Rx	\$866.53	\$1,949.70	\$2,426.29	7B
58	Choices	\$300/\$600	\$20/\$20	\$25/\$50	0%	Saver Rx	\$888.55	\$1,999.22	\$2,487.92	7E
59	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$901.00	\$2,027.25	\$2,522.80	5L
60	Choices	\$300/\$600	\$10/\$10	\$25/\$50	0%	Saver Rx	\$904.85	\$2,035.90	\$2,533.57	7C
61	Choices	\$200/\$400	\$20/\$20	\$25/\$50	0%	Saver Rx	\$914.43	\$2,057.45	\$2,560.39	6N
62	Choices	\$300/\$600	\$5/\$5	\$10/\$25	0%	Saver Rx	\$915.30	\$2,059.43	\$2,562.83	7A
63	Choices	\$500/\$1000	\$10/\$10	\$25/\$50	0%	\$10/\$20	\$916.14	\$2,061.32	\$2,565.19	5J
64	Choices	\$500/\$1000	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$925.80	\$2,083.04	\$2,592.22	5H
65	Choices	\$200/\$400	\$10/\$10	\$25/\$50	0%	Saver Rx	\$931.39	\$2,095.62	\$2,607.89	6P
66	Choices	\$200/\$400	\$5/\$5	\$10/\$25	0%	Saver Rx	\$942.27	\$2,120.10	\$2,638.35	6R
67	Choices	\$100/\$200	\$20/\$20	\$25/\$50	0%	Saver Rx	\$942.91	\$2,121.54	\$2,640.14	6M
68	Choices	\$300/\$600	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$947.81	\$2,132.57	\$2,653.86	5K
69	Choices	\$200/\$400	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$973.69	\$2,190.80	\$2,726.33	зт
70	Choices	\$300/\$600	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$974.57	\$2,192.77	\$2,728.78	5G
71	Choices	\$200/\$400	\$10/\$10	\$25/\$50	0%	\$10/\$20	\$990.65	\$2,228.97	\$2,773.83	3U
72	Choices	\$200/\$400	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,001.53	\$2,253.45	\$2,804.29	35
73	Choices	\$100/\$200	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$1,002.17	\$2,254.89	\$2,806.08	3R
74	Choices	\$100/\$200	\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,019.83	\$2,294.61	\$2,855.52	3Q
75	Choices	\$100/\$200	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,031.24	\$2,320.29	\$2,887.47	3P



This set of rates includes a Multiproduct Discount of 1.25%

Medical Rate Summary Exclusively for Menominee County ISD (Part of APA - Upper Peninsula) Rates Effective 01/01/2024 through 12/31/2024

	Medical Plan	IN Deductible	IN OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family	_
1	Essentials by MESSA	\$375/\$750	\$25/\$50	\$50/\$200	20%	EbM	\$569.38	\$1,281.12	\$1,594.28	EA
										1
2	MESSA Balance+	\$1600/\$3200	\$25/\$50	\$50/\$200	20%	Balance+Rx	\$637.22	\$1,433.74	\$1,784.21	EC
										1
3	ABC Plan 3	\$3500/\$7000	\$0/\$0	\$0/\$0	20%	ABC Rx	\$598.23	\$1,346.03	\$1,675.06	9Q
4	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	20%	3Tier Mail	\$605.87	\$1,363.20	\$1,696.43	СІ
5	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	20%	3Tier	\$613.12	\$1,379.51	\$1,716.73	DO
6	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	10%	3Tier Mail	\$618.61	\$1,391.85	\$1,732.09	CE
7	ABC Plan 3	\$3500/\$7000	\$0/\$0	\$0/\$0	10%	ABC Rx	\$624.44	\$1,404.99	\$1,748.44	7T
8	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	10%	3Tier	\$626.01	\$1,408.52	\$1,752.83	DК
9	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	20%	ABC Rx	\$641.72	\$1,443.87	\$1,796.82	9L
10	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	3Tier Mail	\$642.11	\$1,444.73	\$1,797.90	ВW
11	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	3Tier	\$649.79	\$1,462.04	\$1,819.42	DC
12	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	10%	ABC Rx	\$655.23	\$1,474.26	\$1,834.63	9К
13	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	3Tier Mail	\$659.19	\$1,483.17	\$1,845.73	BS
14	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	0%	3Tier Mail	\$662.39	\$1,490.37	\$1,854.68	СА
15	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	3Tier	\$667.07	\$1,500.90	\$1,867.79	СҮ
16	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	0%	3Tier	\$670.32	\$1,508.23	\$1,876.90	DG
17	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	ABC Mail	\$671.03	\$1,509.82	\$1,878.88	AO
18	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	ABC Rx	\$679.95	\$1,529.89	\$1,903.87	9D
19	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	ABC Mail	\$688.89	\$1,550.00	\$1,928.88	AK
20	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	ABC Rx	\$697.94	\$1,570.36	\$1,954.22	9C
21	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	0%	ABC Rx	\$701.60	\$1,578.60	\$1,964.48	7R
22	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	3Tier Mail	\$708.54	\$1,594.22	\$1,983.93	во
23	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	3Tier	\$717.03	\$1,613.31	\$2,007.68	CU
24	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	ABC Mail	\$740.46	\$1,666.04	\$2,073.30	AG
25	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	ABC Rx	\$749.68	\$1,686.77	\$2,099.10	7P
26	Choices	\$3000/\$6000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$663.28	\$1,492.38	\$1,857.18	8V
27	Choices	\$3000/\$6000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$675.15	\$1,519.09	\$1,890.43	8U
28	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	3Tier Mail	\$675.60	\$1,520.11	\$1,891.69	BA
29	Choices	\$2000/\$4000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$685.33	\$1,542.00	\$1,918.93	8R
30	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	3Tier	\$688.72	\$1,549.61	\$1,928.40	вм
31	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	3Tier Mail	\$695.10	\$1,563.98	\$1,946.28	AY
32	Choices	\$2000/\$4000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$701.45	\$1,578.26	\$1,964.05	8Q
33	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	3Tier	\$708.23	\$1,593.51	\$1,983.02	вк
34	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	SRX Mail	\$711.13	\$1,600.04	\$1,991.17	AC
35	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	3Tier Mail	\$712.92	\$1,604.06	\$1,996.16	1
36	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$721.79	\$1,624.03	\$2,021.02	8N
37	Choices	\$3000/\$6000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$723.49	\$1,627.85	\$2,025.77	8E
38	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	3Tier	\$726.03	\$1,633.57	\$2,032.90	BG
39	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	SRX Mail	\$730.63	\$1,643.92	\$2,045.76	1
-	L								. ,	1



This set of rates includes a Multiproduct Discount of 1.25%

Medical Rate Summary Exclusively for Menominee County ISD (Part of APA - Upper Peninsula) Rates Effective 01/01/2024 through 12/31/2024

	Medical Plan	IN Deductible	IN OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family	-
40	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	3Tier Mail	\$737.51	\$1,659.40	\$2,065.04	AS
41	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$741.30	\$1,667.93	\$2,075.64	8M
42	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	SRX Mail	\$748.44	\$1,684.00	\$2,095.64	9W
43	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	3Tier	\$750.63	\$1,688.93	\$2,101.77	BE
44	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	3Tier Mail	\$753.63	\$1,695.67	\$2,110.16	AW
45	Choices	\$2000/\$4000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$754.03	\$1,696.56	\$2,111.27	8D
46	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$759.12	\$1,708.01	\$2,125.52	8J
47	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	3Tier	\$766.75	\$1,725.18	\$2,146.90	ві
48	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	SRX Mail	\$773.04	\$1,739.34	\$2,164.52	90
49	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$783.71	\$1,763.35	\$2,194.40	81
50	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	SRX Mail	\$789.16	\$1,775.60	\$2,209.64	9Y
51	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$799.83	\$1,799.62	\$2,239.52	8C
52	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	3Tier Mail	\$801.98	\$1,804.45	\$2,245.53	AQ
53	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	3Tier	\$815.10	\$1,833.96	\$2,282.27	вс
54	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	SRX Mail	\$837.52	\$1,884.41	\$2,345.04	9S
55	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$848.18	\$1,908.40	\$2,374.89	7F
56	Choices	\$500/\$1000	\$10/\$10	\$25/\$50	0%	Saver Rx	\$863.44	\$1,942.72	\$2,417.62	7D
57	Choices	\$500/\$1000	\$5/\$5	\$10/\$25	0%	Saver Rx	\$873.17	\$1,964.62	\$2,444.86	7B
58	Choices	\$300/\$600	\$20/\$20	\$25/\$50	0%	Saver Rx	\$895.35	\$2,014.53	\$2,506.96	7E
59	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$907.90	\$2,042.77	\$2,542.11	5L
60	Choices	\$300/\$600	\$10/\$10	\$25/\$50	0%	Saver Rx	\$911.77	\$2,051.48	\$2,552.96	7C
61	Choices	\$200/\$400	\$20/\$20	\$25/\$50	0%	Saver Rx	\$921.42	\$2,073.20	\$2,579.98	6N
62	Choices	\$300/\$600	\$5/\$5	\$10/\$25	0%	Saver Rx	\$922.31	\$2,075.19	\$2,582.45	7A
63	Choices	\$500/\$1000	\$10/\$10	\$25/\$50	0%	\$10/\$20	\$923.15	\$2,077.09	\$2,584.82	5J
64	Choices	\$500/\$1000	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$932.88	\$2,098.98	\$2,612.06	5H
65	Choices	\$200/\$400	\$10/\$10	\$25/\$50	0%	Saver Rx	\$938.52	\$2,111.66	\$2,627.84	6P
66	Choices	\$200/\$400	\$5/\$5	\$10/\$25	0%	Saver Rx	\$949.48	\$2,136.32	\$2,658.54	6R
67	Choices	\$100/\$200	\$20/\$20	\$25/\$50	0%	Saver Rx	\$950.12	\$2,137.78	\$2,660.34	6M
68	Choices	\$300/\$600	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$955.06	\$2,148.89	\$2,674.17	5K
69	Choices	\$200/\$400	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$981.14	\$2,207.57	\$2,747.20	зт
70	Choices	\$300/\$600	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$982.03	\$2,209.55	\$2,749.66	5G
71	Choices	\$200/\$400	\$10/\$10	\$25/\$50	0%	\$10/\$20	\$998.23	\$2,246.03	\$2,795.06	3U
72	Choices	\$200/\$400	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,009.20	\$2,270.69	\$2,825.75	35
73	Choices	\$100/\$200	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$1,009.84	\$2,272.15	\$2,827.56	3R
74	Choices	\$100/\$200	\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,027.63	\$2,312.18	\$2,877.37	3Q
75	Choices	\$100/\$200	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,039.13	\$2,338.04	\$2,909.56	3P

MESSA medical plans include a \$5,000 Basic Term Life and AD&D plan at an additional cost of \$1.50, which is billed separately from the rate above. The above rates are based on the information provided. Material changes in the composition of the group such as number of enrollees, definable group, eligibility requirements or plans offered may affect the final rates. These rates do not include pricing for the EA1 Rider, which is included in monthly medical premium at \$0.10/\$0.24/\$0.28 for Single/2-Person/Family if applicable.

Page: 4

731



This set of rates includes a Multiproduct Discount of 1%

Medical Rate Summary Exclusively for Menominee County ISD (Part of APA - Upper Peninsula) Rates Effective 01/01/2024 through 12/31/2024

	Medical Plan	IN Deductible	IN OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family	
1	Essentials by MESSA	\$375/\$750	\$25/\$50	\$50/\$200	20%	EbM	\$570.82	\$1,284.36	\$1,598.32	EA
2	MESSA Balance+	\$1600/\$3200	\$25/\$50	\$50/\$200	20%	Balance+Rx	\$638.83	\$1,437.37	\$1,788.73	EC
		•	• - /• -	.			•	• · · · · · ·	• • • • • • •	1
3	ABC Plan 3	\$3500/\$7000	\$0/\$0	\$0/\$0	20%	ABC Rx	\$599.75	\$1,349.44	\$1,679.30	9Q
4	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	20%	3Tier Mail	\$607.40	\$1,366.66	\$1,700.73	СІ
5	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	20%	3Tier	\$614.67	\$1,383.00	\$1,721.07	DO
6	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	10%	3Tier Mail	\$620.17	\$1,395.38	\$1,736.47	CE
7	ABC Plan 3	\$3500/\$7000	\$0/\$0	\$0/\$0	10%	ABC Rx	\$626.02	\$1,408.55	\$1,752.86	7T
8	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	10%	3Tier	\$627.59	\$1,412.09	\$1,757.27	DK
9	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	20%	ABC Rx	\$643.35	\$1,447.53	\$1,801.36	9L
10	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	3Tier Mail	\$643.73	\$1,448.39	\$1,802.45	BW
11	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	3Tier	\$651.44	\$1,465.74	\$1,824.03	DC
12	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	10%	ABC Rx	\$656.89	\$1,477.99	\$1,839.27	9К
13	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	3Tier Mail	\$660.86	\$1,486.93	\$1,850.40	BS
14	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	0%	3Tier Mail	\$664.07	\$1,494.14	\$1,859.38	СА
15	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	3Tier	\$668.76	\$1,504.70	\$1,872.52	СҮ
16	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	0%	3Tier	\$672.02	\$1,512.05	\$1,881.66	DG
17	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	ABC Mail	\$672.73	\$1,513.64	\$1,883.64	AO
18	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	ABC Rx	\$681.67	\$1,533.77	\$1,908.69	9D
19	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	ABC Mail	\$690.63	\$1,553.92	\$1,933.76	AK
20	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	ABC Rx	\$699.71	\$1,574.34	\$1,959.17	9C
21	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	0%	ABC Rx	\$703.37	\$1,582.59	\$1,969.45	7R
22	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	3Tier Mail	\$710.34	\$1,598.26	\$1,988.95	во
23	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	3Tier	\$718.85	\$1,617.40	\$2,012.76	CU
24	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	ABC Mail	\$742.34	\$1,670.26	\$2,078.55	AG
25	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	ABC Rx	\$751.57	\$1,691.04	\$2,104.41	7P
26	Choices	\$3000/\$6000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$664.96	\$1,496.16	\$1,861.88	8V
27	Choices	\$3000/\$6000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$676.86	\$1,522.94	\$1,895.22	80
28	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	3Tier Mail	\$677.31	\$1,523.96	\$1,896.48	ВА
29	Choices	\$2000/\$4000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$687.06	\$1,545.90	\$1,923.79	8R
30	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	3Tier	\$690.46	\$1,553.53	\$1,933.29	вм
31	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	3Tier Mail	\$696.86	\$1,567.94	\$1,951.21	AY
32	Choices	\$2000/\$4000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$703.22	\$1,582.26	\$1,969.02	8Q
33	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	3Tier	\$710.02	\$1,597.54	\$1,988.04	вк
34	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	SRX Mail	\$712.93	\$1,604.10	\$1,996.21	AC
35	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	3Tier Mail	\$714.72	\$1,608.12	\$2,001.21	AU
36	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$723.62	\$1,628.15	\$2,026.14	8N
37	Choices	\$3000/\$6000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$725.32	\$1,631.97	\$2,030.90	1
38	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	3Tier	\$727.87	\$1,637.71	\$2,038.05	1
39	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	SRX Mail	\$732.48	\$1,648.08	\$2,050.94	1
	L			· -· · · ·					, ,	



This set of rates includes a Multiproduct Discount of 1%

Medical Rate Summary Exclusively for Menominee County ISD (Part of APA - Upper Peninsula) Rates Effective 01/01/2024 through 12/31/2024

	Medical Plan	IN Deductible	IN OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family	
40	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	3Tier Mail	\$739.38	\$1,663.60	\$2,070.27	AS
41	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$743.18	\$1,672.15	\$2,080.90	8M
42	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	SRX Mail	\$750.34	\$1,688.26	\$2,100.94	9W
43	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	3Tier	\$752.53	\$1,693.20	\$2,107.09	BE
44	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	3Tier Mail	\$755.54	\$1,699.96	\$2,115.50	AW
45	Choices	\$2000/\$4000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$755.94	\$1,700.86	\$2,116.62	8D
46	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$761.04	\$1,712.33	\$2,130.90	8J
47	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	3Tier	\$768.69	\$1,729.55	\$2,152.33	ві
48	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	SRX Mail	\$775.00	\$1,743.75	\$2,170.00	90
49	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$785.70	\$1,767.82	\$2,199.96	81
50	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	SRX Mail	\$791.16	\$1,780.09	\$2,215.23	9Y
51	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$801.86	\$1,804.17	\$2,245.19	8C
52	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	3Tier Mail	\$804.01	\$1,809.02	\$2,251.22	AQ
53	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	3Tier	\$817.16	\$1,838.61	\$2,288.05	вс
54	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	SRX Mail	\$839.64	\$1,889.18	\$2,350.98	95
55	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$850.33	\$1,913.23	\$2,380.91	7F
56	Choices	\$500/\$1000	\$10/\$10	\$25/\$50	0%	Saver Rx	\$865.62	\$1,947.64	\$2,423.74	7D
57	Choices	\$500/\$1000	\$5/\$5	\$10/\$25	0%	Saver Rx	\$875.38	\$1,969.59	\$2,451.05	7B
58	Choices	\$300/\$600	\$20/\$20	\$25/\$50	0%	Saver Rx	\$897.61	\$2,019.63	\$2,513.31	7E
59	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$910.20	\$2,047.94	\$2,548.54	5L
60	Choices	\$300/\$600	\$10/\$10	\$25/\$50	0%	Saver Rx	\$914.08	\$2,056.68	\$2,559.42	7C
61	Choices	\$200/\$400	\$20/\$20	\$25/\$50	0%	Saver Rx	\$923.76	\$2,078.45	\$2,586.51	6N
62	Choices	\$300/\$600	\$5/\$5	\$10/\$25	0%	Saver Rx	\$924.64	\$2,080.44	\$2,588.98	7A
63	Choices	\$500/\$1000	\$10/\$10	\$25/\$50	0%	\$10/\$20	\$925.49	\$2,082.35	\$2,591.37	5J
64	Choices	\$500/\$1000	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$935.24	\$2,104.29	\$2,618.67	5H
65	Choices	\$200/\$400	\$10/\$10	\$25/\$50	0%	Saver Rx	\$940.89	\$2,117.00	\$2,634.50	6P
66	Choices	\$200/\$400	\$5/\$5	\$10/\$25	0%	Saver Rx	\$951.88	\$2,141.73	\$2,665.27	6R
67	Choices	\$100/\$200	\$20/\$20	\$25/\$50	0%	Saver Rx	\$952.53	\$2,143.19	\$2,667.08	6M
68	Choices	\$300/\$600	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$957.48	\$2,154.33	\$2,680.94	5K
69	Choices	\$200/\$400	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$983.62	\$2,213.16	\$2,754.15	зт
70	Choices	\$300/\$600	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$984.51	\$2,215.14	\$2,756.62	5G
71	Choices	\$200/\$400	\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,000.76	\$2,251.71	\$2,802.14	3U
72	Choices	\$200/\$400	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,011.75	\$2,276.44	\$2,832.90	3S
73	Choices	\$100/\$200	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$1,012.40	\$2,277.90	\$2,834.71	ЗR
74	Choices	\$100/\$200	\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,030.23	\$2,318.03	\$2,884.66	3Q
75	Choices	\$100/\$200	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,041.76	\$2,343.96	\$2,916.93	ЗP



This set of rates does not include a Multiproduct Discount

Medical Rate Summary Exclusively for Menominee County ISD (Part of APA - Upper Peninsula) Rates Effective 01/01/2024 through 12/31/2024

	Medical Plan	IN Deductible	IN OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family	_
1	Essentials by MESSA	\$375/\$750	\$25/\$50	\$50/\$200	20%	EbM	\$576.59	\$1,297.33	\$1,614.46	EA
										1
2	MESSA Balance+	\$1600/\$3200	\$25/\$50	\$50/\$200	20%	Balance+Rx	\$645.29	\$1,451.89	\$1,806.80	EC
3	ABC Plan 3	\$3500/\$7000	\$0/\$0	\$0/\$0	20%	ABC Rx	\$605.81	\$1,363.07	\$1,696.26	90
4	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	20%	3Tier Mail	\$613.53	\$1,380.46	\$1,717.91	ci
5	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	20%	3Tier	\$620.88	\$1,396.97	\$1,738.46	DO
6	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	10%	3Tier Mail	\$626.44	\$1,409.47	\$1,754.01	CE
7	ABC Plan 3	\$3500/\$7000	\$0/\$0	\$0/\$0	10%	ABC Rx	\$632.34	\$1,422.78	\$1,770.57	7T
8	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	10%	3Tier	\$633.93	\$1,426.35	\$1,775.02	DK
9	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	20%	ABC Rx	\$649.84	\$1,462.15	\$1,819.56	9L
10	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	3Tier Mail	\$650.24	\$1,463.02	\$1,820.66	вw
11	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	3Tier	\$658.02	\$1,480.54	\$1,842.45	DC
12	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	10%	ABC Rx	\$663.52	\$1,492.92	\$1,857.85	9к
13	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	3Tier Mail	\$667.54	\$1,501.95	\$1,869.09	BS
14	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	0%	3Tier Mail	\$670.78	\$1,509.23	\$1,878.16	СА
15	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	3Tier	\$675.52	\$1,519.90	\$1,891.43	СҮ
16	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	0%	3Tier	\$678.81	\$1,527.32	\$1,900.66	DG
17	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	ABC Mail	\$679.52	\$1,528.93	\$1,902.67	AO
18	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	20%	ABC Rx	\$688.56	\$1,549.26	\$1,927.97	9D
19	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	ABC Mail	\$697.61	\$1,569.62	\$1,953.30	AK
20	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	10%	ABC Rx	\$706.77	\$1,590.24	\$1,978.96	9C
21	ABC Plan 2	\$2000/\$4000	\$0/\$0	\$0/\$0	0%	ABC Rx	\$710.48	\$1,598.58	\$1,989.34	7R
22	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	3Tier Mail	\$717.51	\$1,614.40	\$2,009.04	во
23	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	3Tier	\$726.11	\$1,633.73	\$2,033.09	cυ
24	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	ABC Mail	\$749.84	\$1,687.13	\$2,099.54	AG
25	ABC Plan 1	\$1600/\$3200	\$0/\$0	\$0/\$0	0%	ABC Rx	\$759.17	\$1,708.12	\$2,125.67] 7P
										,
26	Choices	\$3000/\$6000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$671.67	\$1,511.27	\$1,880.69	8V
27	Choices	\$3000/\$6000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$683.70	\$1,538.32	\$1,914.36	8U
28	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	3Tier Mail	\$684.15	\$1,539.36	\$1,915.64	ВА
29	Choices	\$2000/\$4000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$694.00	\$1,561.52	\$1,943.22	8R
30	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	3Tier	\$697.44	\$1,569.22	\$1,952.81	вм
31	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	3Tier Mail	\$703.90	\$1,583.78	\$1,970.92	AY
32	Choices	\$2000/\$4000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$710.33	\$1,598.24	\$1,988.91	8Q
33	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	3Tier	\$717.19	\$1,613.68	\$2,008.12	вк
34	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	SRX Mail	\$720.13	\$1,620.30	\$2,016.38	AC
35	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	3Tier Mail	\$721.94	\$1,624.36	\$2,021.43	AU
36	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$730.93	\$1,644.59	\$2,046.61	8N
37	Choices	\$3000/\$6000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$732.65	\$1,648.46	\$2,051.42	8E
38	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	3Tier	\$735.22	\$1,654.25	\$2,058.63	ВG
39	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	SRX Mail	\$739.87	\$1,664.73	\$2,071.66	AA



This set of rates does not include a Multiproduct Discount

Medical Rate Summary Exclusively for Menominee County ISD (Part of APA - Upper Peninsula) Rates Effective 01/01/2024 through 12/31/2024

	Medical Plan	IN Deductible	IN OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family	-
40	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	3Tier Mail	\$746.85	\$1,680.41	\$2,091.18	AS
41	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$750.68	\$1,689.04	\$2,101.92	8M
42	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	SRX Mail	\$757.92	\$1,705.32	\$2,122.17	9W
43	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	3Tier	\$760.13	\$1,710.31	\$2,128.37	BE
44	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	3Tier Mail	\$763.17	\$1,717.13	\$2,136.87	AW
45	Choices	\$2000/\$4000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$763.57	\$1,718.04	\$2,138.00	8D
46	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	20%	Saver Rx	\$768.73	\$1,729.63	\$2,152.43	8J
47	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	3Tier	\$776.46	\$1,747.02	\$2,174.07	ві
48	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	SRX Mail	\$782.83	\$1,761.36	\$2,191.92	90
49	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	10%	Saver Rx	\$793.63	\$1,785.68	\$2,222.18	81
50	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	SRX Mail	\$799.15	\$1,798.07	\$2,237.61	9Y
51	Choices	\$1000/\$2000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$809.96	\$1,822.40	\$2,267.87	8C
52	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	3Tier Mail	\$812.13	\$1,827.29	\$2,273.96	AQ
53	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	3Tier	\$825.42	\$1,857.18	\$2,311.16	вс
54	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	SRX Mail	\$848.12	\$1,908.26	\$2,374.72	95
55	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	Saver Rx	\$858.92	\$1,932.55	\$2,404.96	7F
56	Choices	\$500/\$1000	\$10/\$10	\$25/\$50	0%	Saver Rx	\$874.37	\$1,967.32	\$2,448.22	7D
57	Choices	\$500/\$1000	\$5/\$5	\$10/\$25	0%	Saver Rx	\$884.22	\$1,989.49	\$2,475.80	7B
58	Choices	\$300/\$600	\$20/\$20	\$25/\$50	0%	Saver Rx	\$906.68	\$2,040.03	\$2,538.69	7E
59	Choices	\$500/\$1000	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$919.39	\$2,068.63	\$2,574.29	5L
60	Choices	\$300/\$600	\$10/\$10	\$25/\$50	0%	Saver Rx	\$923.32	\$2,077.45	\$2,585.28	70
61	Choices	\$200/\$400	\$20/\$20	\$25/\$50	0%	Saver Rx	\$933.09	\$2,099.44	\$2,612.64	6N
62	Choices	\$300/\$600	\$5/\$5	\$10/\$25	0%	Saver Rx	\$933.98	\$2,101.45	\$2,615.14	7A
63	Choices	\$500/\$1000	\$10/\$10	\$25/\$50	0%	\$10/\$20	\$934.84	\$2,103.39	\$2,617.54	5J
64	Choices	\$500/\$1000	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$944.69	\$2,125.55	\$2,645.13	5H
65	Choices	\$200/\$400	\$10/\$10	\$25/\$50	0%	Saver Rx	\$950.40	\$2,138.39	\$2,661.11	6P
66	Choices	\$200/\$400	\$5/\$5	\$10/\$25	0%	Saver Rx	\$961.50	\$2,163.37	\$2,692.19	6R
67	Choices	\$100/\$200	\$20/\$20	\$25/\$50	0%	Saver Rx	\$962.15	\$2,164.84	\$2,694.02	6M
68	Choices	\$300/\$600	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$967.15	\$2,176.09	\$2,708.02	5K
69	Choices	\$200/\$400	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$993.56	\$2,235.51	\$2,781.97	зт
70	Choices	\$300/\$600	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$994.46	\$2,237.52	\$2,784.47	5G
71	Choices	\$200/\$400	\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,010.87	\$2,274.46	\$2,830.44	зU
72	Choices	\$200/\$400	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,021.97	\$2,299.44	\$2,861.52	35
73	Choices	\$100/\$200	\$20/\$20	\$25/\$50	0%	\$10/\$20	\$1,022.62	\$2,300.91	\$2,863.35	3R
74	Choices	\$100/\$200	\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,040.64	\$2,341.44	\$2,913.80	3Q
75	Choices	\$100/\$200	\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,052.28	\$2,367.64	\$2,946.39	3P